Ratio to ATLAS

13000 GeV pp

tt
SR T S
o 10 = top . . -
Q) — P_" (ATLAS semileptonic ttbar) -
= - T =
.k N
a L _
©
~ -2 _—
g107 £ E
o [ .
2 ¥ T -
— - * _
[ 1 -
{
107 E_! l"‘l\ E
- RS -
. m ATLAS N N
.| —© Pythia6.428 390 T

10™ E _.&- pythia 6.428 391 AN E
— -~ Pythia 6.428 392 TN =
[ -+~ Pythia 6.428 396 RN -
— --%-- Pythia 6.428 397 g .

10 --¥-- Pythia 6.428 398

Rivet 3.1.10, = 2.4M events

mcplots.cern.ch [arXiv:1306.3436]

2 2
1 11
0.5 0.5
I ! ! ! ! . I . ! ! ! . I

0 500 1000



	Contents
	Page 1


